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Advanced Kinematics Problems

Goal:
- to be able to solve advanced kinematics problems that
may involve more than one object
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A car moving at 12 m/s passes a stationary truck. At that
instant the truck accelerates at 2 m/s2.

If the truck maintains this acceleration, how long will it take to

catch up?
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A dog is running at 5.0 m/s and a cat is running at 3.0 m/s. If
the cat has a 20.0 m headstart, how long will it take the dog to
catch the cat?
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An electric train leaves Montreal heading towards Toronto with
an average velocity of 25 m/s. One hour later, another train
leaves Toronto heading to Montreal traveling at 23 m/s. The
track connecting Montreal and Toronto is 480 km.

How far has each train traveled when they pass each other?
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b) If the wind is traveling at 10 m/s towards Montreal, how fast
does the smoke from the train travel?
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